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Support so far….

• Focused revision sessions on specific 

topics

• Opportunity to purchase revision 

guides at a discounted price

• Friday drop-in session with HLTA in 

B2 – all Sciences

Support so 
far…

Revision 
Guides

Revision 
sessions

TWIG

Kerboodle

GCSE 
Pod

Tassomai



https://www.twig-world.com/film/what-is-dna-1049/


Grades?



AQA – Triple Science



AQA- Trilogy (Double Science)

Biology Paper 1

1 hr 15 mins

70 marks

16.7% of GCSE

Biology Paper 2

1 hr 15 mins

70 marks

16.7% of GCSE

Chemistry 

Paper 1

1 hr 15 mins

70 marks

16.7% of GCSE

Chemistry 

Paper 1
1 hr 15 mins

70 marks

16.7% of GCSE

Physics Paper 1

1 hr 15 mins

70 marks

16.7% of GCSE

Physics Paper 1

1 hr 15 mins

70 marks

16.7% of GCSE

1 2 3 4 5 6 7 8 9

1 2 3 4 5 6 7 8 9

Grade 6, 7



Science Grades
• Two tiers available:

– Foundation (1 - 5)
– Higher (4 - 9)

Combined Science (Double)
• The qualification will be graded on a 17-point scale: 1–1 to 9–9 – where 9–9 is the best grade. 

• A student taking Foundation Tier assessments will be awarded a grade within the range of 1–
1 to 5–5. 

• A student taking Higher Tier assessments will be awarded a grade within the range of 4–4 to 
9–9. 





BECK, I. L., MCKEOWN, M. G., & KUCAN, L. (2002). Bringing words to life: robust vocabulary 
instruction. New York, Guilford Press.

T
ie

rs
 o

f 

v
o

c
a

b
u

la
ry



Tier 3

Acids

Ions

Formula

Compounds

Protons

Neutrons

Elections

Atom

C
h

e
m

is
tr

y
: 

G
C

S
E

 

2
0
1
8
 

Transition 

metal

Electrode

Alkaline

Isotopes

Endothermic

Electrolysis

Gas

Oxidation

Give

Define

Describe

Determine

Estimate

Suggest

Calculate

Evaluate

Explain

Balanced

Refuel

Compared

Experimental

Trends

Associated

Limiting

Yield

Batch

Tier 2



Chemistry at GCSE



Topics covered:
• C1 Atomic Structure

• C2 The Periodic Table

• C3 Structure and Bonding

• C4 Chemical Calculations

• C5 Chemical Changes

• C6 Electrolysis

• C7 Energy Changes

• C8 Rates and Equilibrium

• C9 Crude Oil and Fuels

• C10 Organic Reactions (TRIPLE only)

• C11 Polymers (TRIPLE only)

• C12 Chemical Analysis

• C13 The Earth’s Atmosphere

• C14 The Earth’s Resources

• C15 Using Our Resources (TRIPLE only)



To do well in the exam students should:

•Learn the content needed

•Ensure that they understand the content

•Ensure they have good examination 
technique



An example of exam technique practice:

•Comparing and explaining the properties of 
diamond and graphite (both made of carbon 
atoms only).

•GCSEPod Allotropes of carbon podcast

https://members.gcsepod.com/shared/podcasts/title/10956


Giant covalent substances

Lots of strong covalent bonds means high melting & boiling points.

Graphite

Allotropes:
Different forms of the same element

Carbon forms different structures 

(allotropes) due to how carbon bonds, 

the properties are therefore different.

When the weak intermolecular forces 

break the layers can slide over each 

other                                                       

Useful for pencils and as a lubricant.

Diamond

Strong 

covalent bond

Weak 

intermolecular 

forces

Carbon 

atoms

Diamond is the hardest naturally 

occurring mineral (10 on the Moh 

scale). Useful for cutting glass and  

in making jewellery.

DO NOT conduct

electricity.

except graphite

Any electrons carbon atoms 

don’t want are dumped 

between layers. 

These are free to move around 

between the layers.

+-



A typical exam question 
about this topic – used with 

GCSE students. 



The exam 
board’s mark 

scheme.



Student 1 
Answer



Student 2 
Answer



Student 3 Answer



Biology Topics
1.Cell Biology

2.Organisation

3.Infection and Response

4.Bioenergetics

5.Homeostasis and Response

6.Inheritance, Variation and Evolution

7.Ecology



Maths has always been a component of Biology exams, but we are 
expecting this to increase significantly in the new qualification

• A minimum of 10% of marks will test maths skills in GCSE Biology; 

• 20% in GCSE Chemistry;

• 30% in GCSE Physics

Mathematical Requirements

15% of GCSE marks will be for practical skills



Mathematical Requirements

There will be a variety of question types testing maths skills, including multi-
step and open calculations. 

Some skills will be tested more than others such as use of decimals and 
translation of graphs.

Maths skills will be tested up to KS3 standard in Foundation Tier papers and 
Level 1 GCSE in Higher Tier papers. 

What Type of Maths?

How Hard Will The Maths be?



Example Questions - Foundation Tier



1945-1955



Step 1: read the data off the figure
Number of new antibiotics between 
1980 and 2010 = 2
Total number of new antibiotics = 22

Step 2: Calculate percentage
=2/22 x 100
= 9.09%

Step 3: Convert to 2 significant figures
= 9.1%



Example Questions – Higher Tier



Step 1: Read data off graph
• 1961 – 48 people diagnosed
• 2001 – 89 people diagnosed
Difference between 1961 and 2001 = 41 people

Step 2: Calculate percentage difference

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 =
𝐷𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒

𝑂𝑟𝑖𝑔𝑖𝑛𝑎𝑙
x 100

= 41/48 x 100
= 85.416%

Step 3: Convert to 3 significant figures
=  85.4%



Take home message

• As with all of the Sciences, the Biology exam will test maths 
skills

• Students should bring a scientific calculator to all lessons and all 
science exams

• During revision, as in lessons, attention should be paid to the 
maths skills appropriate to each topic.

• Students should not be fearful of the maths, it should be no 
harder than their GCSE maths exams



Physics



• Conservation and Dissipation of Energy

• Energy Transfer by Heating

• Energy Resources

• Electric Circuits

• Electricity in the Home

• Molecules and Matter

• Radioactivity

• Forces in Balance

• Forces and Motion (+ Forces and Pressure)

• Wave Properties

• Electromagnetic Waves (+ Light)

• Electromagnetism

• Space

All Yr11 Students have 
covered these topics.



These are all the 
equations you need 

to remember for Yr10
W=mg P=E

t
P=I2 R

Q=It W=Fs P=W
t

E=Pt

V=IR Ek = ½ mv2 E=QV Efficiency = useful output energy
total input energy

P=VI Ep = mgh ρ= m
V

Efficiency = useful power output 
total power input



What do the 
letters stand 

for?

W=mg P=E
t

P=I2 R

Q=It W=Fs P=W
t

E=Pt

V=IR Ek = ½ mv2 E=QV Efficiency = useful output energy
total input energy

P=VI Ep = mgh ρ= m
V

Efficiency = useful power output 
total power input

W is work done W is work done

P is power

P is power

P is power

P is power

P is powerE is energy

E is energy

E is energy (kinetic) E is energy

E is energy (gravitational 
potential)

W is weight m is mass

g is gravitational field strength 
(10N/kg) t is time I is current R is resistance

I is current

Q is charge

t is time
F is force

s is displacement t is time t is time

V is potential difference

I is current
R is resistance

m is mass
v is velocity

Q is charge

V is potential difference

V is potential difference

I is current

m is mass

g is gravitational field strength 
(10N/kg)

h is height
m is mass

V is volume

ρ is density



SI Units for 
each quantity W=mg P=E

t
P=I2 R

Q=It W=Fs P=W
t

E=Pt

V=IR Ek = ½ mv2 E=QV Efficiency = useful output energy
total input energy

P=VI Ep = mgh ρ= m
V

Efficiency = useful power output 
total power input

W in Newtons

m in kg

g in N/kg

P in Watts E in Joules

t in seconds

P = W

P = W

P = W

I in Amps
R in Ohms

Q in Coulombs

I = A t = s

I = A

t = s t = s

W in Joules or Nm

F = N s in metres

W = J E = J P = W

I = A

Q = C

V in Volts

V = V

V = V

E = J

E = J

E = J m = kg

m = kg

m = kg

g = N/kg h = metres

v = m/s

V = m3

ρ = kg/m3

R in Ω

E = J

E = J

P = W

P = W



Prefixes

How many grams in a kilogram?

How many metres in a kilometre?

Kilo is the prefix that tells us it’s
1000

of something



Prefixes

What other prefixes are there?

mega, M                       centi, c
giga, G                           milli, m
tera, T                            micro, µ

nano, n
pico, p



Prefixes
What do they mean?

kilo, k               1,000
mega, M         1,000,000              
giga, G             1,000,000,000
tera, T              1,000,000,000,000                        
centi, c             0.01
milli, m            0.001
micro, µ           0.000,001          
nano, n            0.000,000,001
pico, p              0.000,000,000,001                        

x103

x106

x109

x1012

x10-2

x10-3

x10-6

x10-9

x10-12



Prefixes
Write these as numbers in SI units.

5km                                        3cm3

60MW                                    32μA

15mm                                     9mV

20cm                                       2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m        3cm3

60MW                                           32μA

15mm                                            9mV

20cm                                              2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                       3cm3

60MW = 60,000,000W or 6 x 107 W       32μA

15mm                                                           9mV

20cm                                                             2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                       3cm3

60MW = 60,000,000W or 6 x 107 W       32μA

15mm = 0.015m or 1.5 x 10-2 m              9mV

20cm                                                             2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                       3cm3

60MW = 60,000,000W or 6 x 107 W       32μA

15mm = 0.015m or 1.5 x 10-2 m              9mV

20cm = 0.2m                                                2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                       3cm3 = 0.0003 m3 or 3 x 10-4m3

60MW = 60,000,000W or 6 x 107 W       32μA

15mm = 0.015m or 1.5 x 10-2 m              9mV

20cm = 0.2m                                                2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                       3cm3 = 0.0003 m3 or 3x10-4m3

60MW = 60,000,000W or 6 x 107 W      32μA = 0.000032A or 3.2x10-5A

15mm = 0.015m or 1.5 x 10-2 m              9mV

20cm = 0.2m                                                2GJ



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                       3cm3 = 0.0003 m3 or 3x10-4m3

60MW = 60,000,000W or 6 x 107 W      32μA = 0.000032A or 3.2x10-5A

15mm = 0.015m or 1.5 x 10-2 m              9mV = 0.009V or 9x10-3V

20cm = 0.2m                                              2GJ 



Prefixes
Write these as numbers in SI units.

5km = 5000m or 5 x 103 m                    3cm3 = 0.000003 m3 or 3x10-6m3

60MW = 60,000,000W or 6 x 107 W      32μA = 0.000032A or 3.2x10-5A

15mm = 0.015m or 1.5 x 10-2 m              9mV = 0.009V or 9x10-3V

20cm = 0.2m                                              2GJ = 2,000,000,000J or 2x109J



Kerboodle

Name



Name





Name





Your course is 

tailored to the

board

specifications, 

so you can have 

peace of mind

that everything 

you’re learning 

is relevant for 

school and for 

your exams.

Tassomai

filters the 

syllabus into 

‘micro-quizzes’

The algorithm 

adapts to each 

student, 

identifying gaps

in your 

knowledge and 

helping you learn 

Tassomai will 

decide what you 

need to do each

day to learn the 

syllabus in time for 

your exams

Each student will 

have a completely

unique journey

through the program 

Tailored to the new 

GCSE specifications!



As you start to answer questions, you’ll notice that 
the question cards start to change colour…

This one is BLUE which means it’s a new 
question to move you through the material! 



A GREEN question is one 
that you have previously 
answered correctly.

If a question is 
ORANGE it means you 
have had mixed 
success with 
answering it in the 
past.



PURPLE questions are ones 
you haven’t seen for a 
while. You have answered 
them correctly in the past 
so we’re just making sure 
you still know it! 

RED questions are 
the ones that you 
have not yet 
answered correctly. 



This bar shows how you whether you 
answered this question correctly or not. 



With this graph, teachers can see exactly which where you 
are doing well and where you are struggling. 



Burford School 11 Set 6 1.7 9.7 18/10/2017 1265 847

Burford School 11 Set 1 1.3 7.1 18/10/2017 579 458

Burford School 11 Set 5 1.3 6 17/10/2017 508 370

Burford School 11 Set 1 0.7 4.5 17/10/2017 137 111

Burford School 11 Set 2 0.9 4.3 17/10/2017 258 204

Burford School 11 Triple 0.2 4 14/10/2017 317 254

Burford School 11 Triple 1.2 3.8 18/10/2017 277 208

Burford School 11 Set 1 0.5 3.8 18/10/2017 133 100

Burford School 11 Set 2 1.1 3.8 18/10/2017 282 220



• As of Monday, January 14 2019, Tassomai is now a 
formal homework.

• All students should be achieving a minimum of 5/7 
of the weekly targets. This will move to 7/7 in a few 
weeks time.






